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Altempt all questions
All questions carry equal marks
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2 For what values of a, m and b does the function

3,x=0
f(A)={-x2+3x+a, O<x<1
mx +b, I<x<2

sausfy the hypothesis of the Mean Value
Theorem on the interval [0, 2] ?
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Find a function whose derivative 15;5-4— 2x and

whose graph passes through the point (-1, 1)
Is any real number exactly 1 less than its cube ?

Show that the sequence <a > defined by the
recurrence relation a ., = qf3an ca o= 1

converges to 3

Graph the equation y = x*(x + 2) Mark the co-
ordinates of local extreme points and inflexion
points, if they exist

Test the convergence or divergence of the senes
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Show that the scres J., ‘(_3— 18 conditionally

fn=l
convergent Estimate the error when this senes 1s
approximated by 1ts first nine terms Find the
number of terms required to compute the value of
the sertes with allowable error 0 05.

Find the quadratic approximation of the function
f(x, y) = e* cos y near the ongin How accurate 15
the approximation if |x <01l and|y|<017?
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Find the lineanizanen L(x, y) of the function
v3

flx, y) =22 ~xy + ‘%4- 3 at (3, 2) Find an upper

bound for the magnmitude of the error mn the

approximation f(x, y) = L(x, y) over the rectangle
R {x-3|<01,|y-2]<0.1

Find the parametric equations for the lme
tangent to the curve of intersection of the surfaces
x+y2+2z2=4andx=1 at the pomnt (1, 1, )

Find the maximum and mimimum values of the
function f(x, y) = 3x + 4y on the circle a2 + y2 = 1.

Find Iim (x)k)g ¥
x—3oo”
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Solve the mmtial value problem for r as a vector
function of t,
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Show that for y > 0,
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